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QUESTION 1

A storage administrator wants to enable data compression on inactive backup volumes that are configured on storage
pool LUNs.

How does VNX data compress storage pool LUNs?

A. Storage pool LUNs are compressed in place.

B. Storage pool LUNs are migrated to a new storage pool LUN with the compression attribute enabled.
C. VNX does not support compression of storage pool LUNs.

D. Storage pool LUNs are migrated to a new RAID-group LUN with the compression attribute enabled.

Correct Answer: A

QUESTION 2

Which three administrative user authentication scopes are provided by VNX?
A. Global, Local, LDAP

B. Global, Kerberos, CHAP

C. Local, Global, NTLM

D. LDAP, Global, SSH

Correct Answer: A

QUESTION 3

Which statement is true for a concatenated metaLUN?

A. Time to perform the expansion varies with the capacity being added
B. Write cache is disabled for the concatenated LUN

C. Expanded capacity is available instantly

D. Performance on the base LUN is affected during concatenation

Correct Answer: C
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QUESTION 4

Which is part of an IPv6 address?
A. Network portion

B. Security header

C.CRC

D. Flow label

Correct Answer: A

QUESTION 5

Which operating system supports LUN shrink?
A. Windows Server 2003

B. Windows Server 2008

C. Linux

D. VMware ESX Server

Correct Answer: B
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